QuesTioN 1  Complete the following sentences.

o
a The size of an acute angle is always less than 90

b The size of a right angle is always equal to q O

o ©
¢ The size of an obtuse angle is always between qo and ' 8 O

d Complementary angles add up to C]O

e Supplementary angles add up to l 8 O

f Vertically opposite angles are always QQM-Q,

g Angles around a point add up to (36 O

QuesTion 1 Find the value of the pronumeral in each of the following.
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QuesTIoN2  Find the value of the pronumeral and give reasons to justify your answer.
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QuesTIoON3  Find the value of the pronumeral, giving reasons.
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QuesTion 1 Find the value of the pronumeral in each of the following.

a b 4
\120°
T
'204‘ BO."‘L = 3:60
a x=16°
QuesTioN 3 Find the value of the pronumeral, giving reasons.
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% Form an equation and solve it to find the value of each pronumeral. Give brief reasons.
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 Find the value of each pronumeral. giving reasons.

v“s.,

- NP
N 84° N n®

N
67° 19> ¢° N2

67— -)L& = qo [@“rw‘y) 84 +V‘V\'+ll -.-.180@

ma = 25° 5 omd Im+n=180@

b"‘C:?O A C= 25 84_2"\:0 .',M:‘Z 7(+a=,90 /)03-_:[500
MFM@/ n =S4

pe i

Qu +72)° 35°
6¢° 2r°

Aw = 10)° %

b= 2u+?2 Sat2c=19

x N o,

6u°
e

,,<’f)(‘ 7p

x+43 =90 2 x,::lrf
Fptr=0 s =4l by =72 u=I8°
= Pk {u +v =180 o 108 tv=190
tp+q= 180 4o L44=180 Jy - 12° .
q=150° Cudw-l0=1%0 = w=82" /2y +2r =90 40 p=24

.
v

‘ N

', . ‘ ' V\x“} = '(/,»’
S 3(1?’20 i 88

M X[
¢ S/ \)%\3(1 AR Y

‘w‘w /7~ ‘\%‘ v/ﬂ .f f (oL N
# fzv ,f .
4 R V4 %

(5d-13)° 5.

()O b

A B

Qd + 14)°

S5d-15+e =90 O Jato+Ja = 180

o Ja =80 a=20
24t fe =10 ® B 2ot C= 80

0-O0=» 34-2%=0 o Ba 4 c=B80-%
o d:ﬁ e = [20°

M(D 15-13 42 =90 | gi b+c= (80

Vi) Q,::-Sg‘ » i).—:-éo"




